PLANTILLA DE PERSONAL FUNCIONARIO, CON

INTERINIDAD.

PLANTILLA CONTESTACION DEL PRIMER EJERCICIO

1? Pregunta
a-¥
b.- U
c-0

2% Pregunta
a.- [
b.- [
C.-

3% Pregunta
a.- [
b.-x
c-0U

4? Pregunta
a-0
b.- [
c.- X

5% Pregunta
a.- [
b.- ¢
c-0O

6" Pregunta
a-[

b.- [J

-X

7% Pregunta
a-0
b.- X

c.-lJ

8? Pregunta
a.-[J
b.- [J

-3

9? Pregunta
a-U
b.- DX
c-0

10* Pregunta
a- X
b.- O
c-0

Nombre:
D.N.I. n°

11? Pregunta
a3
b.- [
c-0

12? Pregunta
a.-[J
b.- [J

c-X

13? Pregunta
a-»"
b.- O
c.-[J

14? Pregunta
a-0
b.- O

=g

15? Pregunta
a-[
b3
c.- [

16 Pregunta
a.- [

b-)

c-0

17* Pregunta
a.-U
b.- [

c-X

18? Pregunta
a- %
b.- 0
c.-UJ

19? Pregunta
a.- [
b.-Y(

c-0

20? Pregunta
a-0
b.- J
c- XX

217 Pregunta
a-0
b.-X
c-0

22? Pregunta
a-x
b.- O
c-0

23? Pregunta

a.- [J
b.- 2

c-0

24? Pregunta
a-0
b.- O

c- X

25 Pregunta
a-0

b.- [

X
26° Pregunta

a.- X

b.- [J
c.- [

27 Pregunta
a.- [
b.- [J

c- )X

28 Pregunta
a.-[J
b

c-U

29 Pregunta
a.- [
b.- U

c-X

307 Pregunta
a.-[
b.- [

c.-x(

317 Pregunta
a-[J

b.- O
c- X
32? Pregunta

a.-[J
b~ X

c.-UJ

33% Pregunta
a-[0

bX

c-0
34" Pregunta

a.-[J
b.- X
c-0

35% Pregunta

b.- [J

c.-[J

36 Pregunta
a.- [J

b.-

c-0

37" Pregunta
a.- %
b.- U
c-0

38* Pregunta
a-0
b.-x
c-0

39 Pregunta
a-[J
b.- O

c.- X

40? Pregunta
a-0

b.-XC

c.-UJ

42° Pregunta
a.- [
b.- [
c-X

43? Pregunta
a-0
b.- X
c-U

44? Pregunta
a-0
b.- O
C.-

X

452 Pregunta

a_-
b.-
C=

|

46° Pregunta
a.- [
b.- [J
C.- X

47* Pregunta
a.- [
b.- [

c- X

48 Pregunta
a.-UJ
b.-X

c-0

49* Pregunta
a.- X
b.- [J
c-0

50? Pregunta
a-0
b.- O
c-X



